Tennoo6meHHuk TennoTtekc-50-M Ha pame 10

_E

I!l_l

[=
=
r

—B== - )
20 —= 3 B
%777 — I
=
g
r
=1l S

e—— - ]
) |
[nuHa Hanpobasiowel
L
e Homep Pasmepbl
S — ) "ET Hanpasnswwen | L1, mm L, Mm
= Pim 1 405 445
— R85 2 650 690
—=r 3 900 940
L1 4 1150 1190
s = = N KonnyectBo Mnowaab [laBneHue, ‘
s S < gl .= MNacTuH B TennoogmeHa, Krc/cm? g3
s = = )
= Cg<lod| of Makc. G O
cg |7 8 |TS 8| Mun | Makc | Mun | Makc | Pacuer Mpob | £ ©
= @ S = Hoe | s £
= T T -Hoe
250 1 11 30 1,44 4,48 130
495 2 31 60 4,64 9,28 158

0.5 745 3 0,16 61 110 9,44 17,28 10 13 204

995 4 111 150 17,44 | 23,68 239

14




Tennoo6meHHuk TennoTtekc-50-M Ha pame 16 Krc/cm®.
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